OCTOBER 2013 U/ID 46434/UCCD

Time : Three hours Maximum : 100 marks
PART A — (10 x 3 = 30 marks)
Answer any TEN questions.
All questions carry equal marks.

1. Define error of commission. Give one example.
Qelilenerenwt ellemd@a. e(h 2 STranTd C&m(HdEHeLD.

2. What do you understand by fixed installment method of
depreciation?
BT seuament (papuld Colinrand semsd(heoums Lpbl B iPleuams
Faf.

3.  State any two differences between Single entry and Double entry
system.

@nanll ufley LOHML QT Lt U6 PEDEHEHEHSE GePLEnul 2 6Ter
@ Coumur(hsamer g m)s.

4.  What are the objectives of Branch accounts?
Slener sanrd@safler Crrésmise Wmenel?

5. What are the three methods of accounting treatment for goods
sent in sale of return basis?
ellpuener Bjeveg SHmLLbd Wpapuled sard@aamer LTell&@LD epemm)
QUMSHSHET WITEHEU?

6.  State the advantages of departmental account?
SO &EWTE G S 6T 6T HEITEDLOSHEN G Fo M) .

7. Define partnership agreement.
gl Lamenoudlen liLibssams 6fleréEs.

8. Note any three differences between Bincard and storesledger.
GOIULY SiLen wHmb uers CuCrh @eupdler @QeL G 2 drer
gCaanid eperm GoumLmHEE6T Fana|Ld.

9.  State the effectiveness of labour turnover.

2 anipliumefl eumensufer Slrenem gnmis.



10.

11.

12.

13.

14.

15.

16.

What do you mean by the term funds?
Blflaar eremp Glamed Lpd B Sidleugy wimg?
Define fixed cost and variable cost. Give one example for each.
Blenowimenr  wHMID  WOTMDSETEID 2 6Tem  ellepaven  6laTEEs.
@\reTip D@D eubleum 2 gryanTd CamHEEe]Lb.
What are the objectives of Budgetary control?
S0 (hgedlen s (HLILITL iq 61 CHTESBISET ULITEneU ?
PART B — (5 x 6 = 30 marks)
Answer any FIVE questions.

All questions carry equal marks.

What are the distinctions between Branch a/c and departmental
alc?

e HETHEGSHDGD, FwD STEGHEHEG QLG 2 drer
Caumur(Ha6r wrenel?

Explain the advantages of ABC analysis.

ABC <y ieflen penenngsenar 6lems@s.

Explain the factors governing incentive schemes.

2a15550ETMNS UPBIGD (penmsaier OEFueuT enl SearaTeantlssEn
STyt SamaT 6l 6Té ;5.

Form the following information you have to prepare

(a) Break —even point

(b) Forecast the profit for sales volume Rs. 50,000.

Fixed cost Rs. 13,000, variable cost Rs. 15,000, Total cost
Rs. 28,000, Net profit Rs. 2,000, Net sales Rs. 30,000

EpsanL aflurhiseaflembg B sremCeouemg wig:
(1) &w aigl yerar

(=) edpuewer em. 50,000 erafles QupCeuamriqw  @oTusams
PenCrT&ESl smems.
1Blenavuimen ellenev . 13,000, LOTmID ellenev
ep. 15,000 Qorgs edlene ¢p. 28,000, Blar @emuid ap. 2,000, Blar
ellmuener e . 30,000
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Mr. Sampath completes a work in 120 hours as against 140
hours allowed. His hourly rate is Rs. 5. He gets a D.A. of Rs. 16
per day of 8 hours work, in addition to his wages. Calculate his
total earnings under Rowan plan.

S, gbus 140 wanfl Crrsdled wpigss Geuamgw Couameaenws 120 el
Crrsdled (pusHeampri. wewl Crrs gmel ep. 5 e prafléey 8 wewtl Crir
Ceuenerd@ jeum QUMb sellanelilg . 16 sadlusams ol
s(sons. Crmeurer gL gdlen Ly Deumenuwl Corsss saedlenw
SITEU0T .

X L.td. has submitted the following Balance sheet for the year
ending 315t December 2010.

Liabilities Rs. Assets Rs.
Equity capital 150,000 Fixed Assets 1,62,000
Reserve 30,000 Stock 22,000
8% Debentures 20,000 Debtors 51,000
Sundry creditors 49,000 Bills Receivable 2,000

Bank 12,000

2,49,000 2,49,000
Find the current ratio and liquidity ratio.

&G o arang erdev AL QL iqer 31.12.2010 ey 2 6rer @) mLiLy
Blenaw @GmILiL.

Qurmitiyser . QeTsgIHs6T Rs.
FTgUBIE epevgeard 150,000  Blevewinar Cersgisser 1,62,000
-3, (T 30,000 &r5@E @@L 22,000
8% sLemugdrmsar 20,000  s_emmeflser 51,000
upue sLatpGsrm 49,000  eureys GHlw wromEH-H 2,000

cumigl @\(mLIL 12,000

2,49,000 2,49,000
BLLiL #6565 whmib Bieo sseisb ydwueupann sarsd(Hs.

3 U/ID 46434/UCCD



19.

20.

21.

22.

23.

Calculate the economic order quantity and number of orders
placed during the year:

Annual consumption 120 units
Buying cost per order Rs. 20
Per unit Price Rs. 100

Storage and carrying cost as a% of average inventory 12%.
S&EHE T A 6TEnELLD, et LADUILANEE, HLneUSEETILD &HT6HTs.
20T (h BISTL 120 S0 @s6r
Q(1h T UTHIGLD cdlaned  p. 20
Q@ S ellena ¢rp. 100
enauliL| pmid GEmearr(h eu(mLDd ClFea srmam @i 12%.
PART C — (4 x 10 = 40 marks)
Answer any FOUR questions.

All questions carry equal marks.

Discuss the features of a good wage system.

(1 Beva Faad (peppulilen SpUiLGHemeT 6lems @s.

Describe the advantages of LIFO method of stores.

@mniFulle eupgms wer Csrhas@n sreaE Culls Curliger
BETEnLO&HEN T ellaurl.

Enumerate the kinds of capital accounts prepared in partnership
account.

Gl L TERTENLD  SETEHD  (POSETD  CTHSMET  UMSWTS  SaT&SL(h)
swrilssiu@&lemmg) eramuans euflansiLbhsg)s.

On 1st January 2009, X owed Rs. 5000 to Y on account. During

the three months ended 31.3.09 the transactions were as follows
in the banks of Y.

Jan 10 Received two bills for 2 months and 3 months respectively

from X Rs. 2,000 each

Feb 9 Paid cash to X Rs. 1,000

Feb-19 Received cash from X Rs. 1,000

Feb-1 Sold goods to X. Rs. 1,000
Mar-13 X’S acceptance due this day dishonoured Rs. 1,000

Prepare account current to be rendered to X on 31.3.2009,
interest to be reckoned at 9% p.a.
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1.1.09 <jemm er&ev, euiulsE Gar(hss Ceuargw Ggsmens em. 5,000.
31.3.09 eoLer (puelLujld 3 OTSHISEHSSTET  HL 6l SHENSHSHET
(Y ysssmigaien) $Cp Qar@asiul_(Hererer:

soameufl — e, 2,000 wdlliérer Qe ordmFF a6 eern @) rewr(h
10 DTS MBIG @@ LOHGHETM CPEIT) LDTSHMBISEHEE LOMS 6T(LHSLILIL(H

eT&edlL_LSI(Hbg) ClumUiLL L .

Gdgeufl-  erdev&E deausdwu Crraso ep. 10,000

9

Qdgeufl-  ergevLOmBE Qupm CQrrésid ep. 1,000
19
ol s ellhm Cummerser em. 1,000
g —13  eréav 2 enLw @arm (pdiTe| SievLbg wTHmFE [H

24.

25.

MISSILLL g em. 1,000

31.3.2009 wjatm g Y5555 eTéSlen samdand swimt Clalis. eulig 9
#5150 GanTéSL Gouetn(hbd

On. 1.1.2005 Java purchased a machinery under hire purchase
system, Rs. 15,000 being paid on delivery and the balance
amount in 5 annual installments of Rs. 10,000 each payable on
January 1 each year. The cash down price of the machinery is
quoted at Rs. 50,000 depreciation @ 10%p.a. on straight line
method to be charged. Calculate machinery account for 5 years.
112005 e smeum @@ QubSrsans eurLmsds CsmeTipge
wepuie eurmdwg, 5, 15000 Quipdrb Qubmeayd WBdHamw
. 10,000 <45 5 yamr(sseuamanmsaflgd eelbleurm e syereuil
1 < Qegss Ceuam(bd. Quibslrssler Cyrss eflene m. 50,000,
Gauwiwreand ar®sE 10 sseaisd Hlybsy wpaopule samrés
Gouar(Hd. QuiBETE SanTéans 5 4,amT(h&@h&EE SWTT ClFuis.

The expenses for budged production of 10,000 units in a factory
are furnished below.
Per unit (Rs.)

Material 70
Labour 25
Variable overhead 20
Fixed overhead (Rs. 1,00,000) 10
Variable expenses (Direct) 5
Selling expenses (10% fixed) 13
Distribution expenses (20% fixed) 7
Administrative expenses (Rs. 50,000) fixed 5
Total cost per unit 155

Prepare a budget for production of:
(a) 8,000 units
(b) 6000 units
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e Gsmipsreeuiedr 10,000 w@sar swrm Qaiw @b S s

Qeavajser ECp QamThissiiLl (HeTerar:

Quim(mL_gerr

Fa.e0l(2_emLpliLiLy)

rmib Cdeienrs QFwe ger

wrpr Codeienys daeeyger(m. 1,00,000)
rmib tFawaser (Crirly)

clpuener Ggwea|ser(10% wrprg:)
MaflCunss Qewayser (20 &.65. rmmg))

Blifeurass Agweser (ap. 50,000) Hlenewimeg)

@ Sodlar Qrsss Fwe,
HTETS.

(=) 2pusd 8000 e@sadr
(<) 2mugd 6000 e @sdr.

R(H AVGSS (6,)
70

25
20
10
9
7
5

155

U/ID 46434/UCCD



